
1
Part no. CB-209-1336 07/28/20

Freestanding Vanity Leg Base Accessory
© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA  19007  U.S.A.
800.877.2376      www.robern.com

FREESTANDING VANITY  
LEG BASE ACCESSORY

Important safety instructions - Save these instructions

Tools Needed - 2 
Parts - 2
Prep the Wall - 3 
Assemble the Frame - 5 
Frame Installation - 6 

This instruction manual contains information on how to assemble a freestanding Cartesian or Profiles Vanity. These accessories come 
in several widths and will only work with matching size Cartesian and Profiles vanities. These instructions are meant to be supplemental 
to your vanity’s instructions. Refer to the instructions included with your vanities for all information regarding electrical option(s) that may 
have been provided.

When combined with Cartesian or Profiles vanities, this accessory needs special site preparation. Do not install vanities until all framing, 
plumbing and electrical option rough-ins have been completed and wall surface has been finished. We recommend using the services 
of a professional installer. Observe all local building codes.

Save these instructions for future use and reference. An improper installation voids the warranty. Installed vanities cannot be returned.

If you experience any problems with your vanities, contact your dealer or Robern directly.

CONTENTS

GENERAL INFORMATION



2
Part no. CB-209-1336 07/28/20

Freestanding Vanity Leg Base Accessory
© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA  19007  U.S.A.
800.877.2376      www.robern.com

TOOLS NEEDED

[216-1207]
Leg Mount Hardware Bag 

[216-1073]*
Mounting Hardware Bag

[203-1293]
(2) Toggle bolt

Optional Mounting Hardware Bag

PARTS

[203-1390]
(4) #10 Washer

[203-1503]
(4) #10-24 x 1/2” Screw

Freestanding Vanity Leg Base

* Components required have been provided with the vanity.

3/8”5/16” 1/2”

  [SS674]
(5) #10 x 2" Screw

[203-1270]
T-30 Driver

 [203-1256]
(4)  5/16" x 2-1/2"  

Structural bolt



3
Part no. CB-209-1336 07/28/20

Freestanding Vanity Leg Base Accessory
© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA  19007  U.S.A.
800.877.2376      www.robern.com

PREP THE WALL

36-1/2”  
(927 mm)

SIDE VIEW SHOWING BLOCKING LOCATION IN WALL.

36-1/2”  
(927 mm)

2X6

13-3/4”  
(349 mm)

2”  
(51 mm)

34-1/2”  
(876 mm)

   3/4” (19 mm) 
BASE MOULDING CLEARANCE

3-1/4” (83 mm) MAX 
SUPPLY15-1/4” (387 mm) MAX 

PLUMBING



4
Part no. CB-209-1336 07/28/20

Freestanding Vanity Leg Base Accessory
© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA  19007  U.S.A.
800.877.2376      www.robern.com

There are two types of electrical options available for vanities. The first is a night light option ordered with the vanity. The second is an
electrical accessory [VAELECTRIC]. Both of these options can be plugged into the same outlet.

The outlet must be wired to a 120vac 20 amp GFCI circuit. We do not recommend using a GFCI outlet because resetting it under the
vanity will be inconvenient.

The night light has no switch. A switch can be wired to one receptacle in the outlet to operate the night light.

All applicable electrical codes in your area must be followed.

The outlet can be installed to the left or right of center depending on which side the VAELECTRIC accessory will be located.

Plumbing should be located as shown to prevent interference with the vanity drawers.

PREP THE WALL

5-1/8” (130 mm) 
PLUMBING DRAWER CLEARANCE

8”  
(203 mm)

15-1/4”  
(387 mm)

13-3/4”  
(349 mm)



5
Part no. CB-209-1336 07/28/20

Freestanding Vanity Leg Base Accessory
© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA  19007  U.S.A.
800.877.2376      www.robern.com

ASSEMBLE THE FRAME

Note: The combination of vanities used in your installation may visually vary from the images shown. For reference, an H1 False Front 
frame over an H2 Drawer frame is shown in the following steps.

1.  Arrange the Vanity Frames in the desired orientation above the Leg Base. Install a #10 screw [SS268] and #10 washer [203-1390] 
through each hole closest to the front and back edge of each side into a #10 Nut [203-1317]. Use a 5/16” wrench and #2 Phillips head 
screwdriver to tighten the assembly until firmly secure.

2.  Attach the Leg Base to the assembled vanity frame using four #10-24 x 1/2” screws [203-1530] and four #10 washers [203-1390] 
included with Leg Base. Use a #2 Phillips head screwdriver to tighten until firmly secure.

2

1



6
Part no. CB-209-1336 07/28/20

Freestanding Vanity Leg Base Accessory
© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA  19007  U.S.A.
800.877.2376      www.robern.com

FRAME INSTALLATION

1.  Place the vanity frame in position against the wall and plumbing. Using a level, adjust the feet under the rear legs until the vanity 
frame is level, side to side.  

2.  Using a level, adjust the feet under the front legs until the vanity frame is level, front to back. Re-check level side to side and 
diagonally (corner to corner) and adjust as necessary.

1 2



7
Part no. CB-209-1336 07/28/20

Freestanding Vanity Leg Base Accessory
© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA  19007  U.S.A.
800.877.2376      www.robern.com

FRAME INSTALLATION

3.  Secure the vanity frame to the wall using the supplied structural bolts [203-1256].

NOTE: To ensure user safety and correct installation, properly anchor the vanity into studs at the positions shown (Fig 3A). If there are 
no studs in these areas, 3/8” holes can be added to the top of the frame member in locations which align with the wall studs, or use the 
toggle bolts [203-1293] provided, in the hole locations as shown (Fig 3B). Follow instructions shown on toggle bolt packaging.

Refer to instruction included with vanity to complete installation.

[203-1293]
Toggle Bolt

[203-1256]
5/16" x 2 1/2"

4-Structural Bolt
4-Boulon

4-Perno estructural

[203-1270]
T-30 Driver

[203-1256]
5/16” x 2-1/2”  
Structural Bolt

3b

3a



8
Part no. CB-209-1336 07/28/20

Freestanding Vanity Leg Base Accessory
© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA  19007  U.S.A.
800.877.2376      www.robern.com

The vanity sides, drawer front and interior are constructed of glass and aluminum. Use only a damp cloth to clean. Ammonia or vinegar 
based cleaners can damage mirrors.

A 50/50 solution of water and isopropyl alcohol is recommended for cleaning the vanity. A mild detergent may be used on the surfaces.

When cleaning, spray the cloth, not the vanity, mirror, or surround surfaces. Do not use abrasive cleansers on any part of the vanity.

USE AND MAINTENANCE

No Ammonia
Sans Ammoniac

Sin Amoniaco

No Vinegar
Sans Vinaigre

Sin Vinagre

No Ammonia 
No Vinegar

Limited Warranty One Year Term

Robern warrants to the original purchaser that, it will, at its election repair, replace, or make appropriate adjustment to products made
by this company shown to have significant defects in material or workmanship which are reported to Robern in writing within one (1)
year from the date of delivery. Robern is not responsible for installation costs. The warranty is void in the event the product is damaged
in transit, or if damage or failure is caused by abuse, misuse, abnormal usage, faulty installation, damage in an accident, improper
maintenance, or any repairs other than those authorized by Robern. At the expiration of the one year warranty period, Robern shall be
under no further obligation under any warranty, expressed or implied, including the implied warranty of merchantability. Robern shall
not be liable for any consequential damages arising out of or in connection with the use or performance of its products. Some states
do not allow limitations on how long an implied warranty lasts or do not allow the exclusion or limitation of incidental or consequential
damages, so the above limitation or exclusion may not apply to you. Any liability against Robern under any implied warranty, including
the warranty of merchantability, is expressly limited to the terms of this warranty. Permission to return any merchandise under this
warranty must be authorized by Robern and returned prepaid by the purchaser. Claims under this warranty should be sent directly to
your dealer.

©2020 Robern, Inc.
All rights reserved

WARRANTY



No. de pièce / Pieza n.° CB-209-1336 07/28/20
Accessoire de Socle du Meuble-Lavabo Autonome

Accessorio para Patas de Base del Tocador Independiente 11
© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA  19007  U.S.A.
800.877.2376      www.robern.com

ACCESSOIRE DE SOCLE DU MEUBLE-LAVABO AUTONOME
Consignes de sécurité importantes - Enregistrez ces instructions

ACCESORIO PARA PATAS DE BASE DEL TOCADOR INDEPENDIENTE
Instrucciones de seguridad importantes - Guarda estas instrucciones

Outils nécessaires - 2
Pièces - 2
Préparation du mur - 3
Assembler le cadre - 5
Installation du cadre - 6

Herramientas necesarias - 2
Piezas - 2
Preparación de la pared - 3
Monte el marco - 5
Instalación del marco estructural - 6

Ce manuel d’instructions contient des informations sur la manière 
d’assembler un Cartesian autonome ou profiler un meuble-lavabo.  
Ces accessoires sont disponibles en plusieurs largeurs et ne 
fonctionnent qu’avec des meubles-lavabos de taille correspondante, 
de type cartésien ou profilé. Ces instructions sont destinées à 
compléter les instructions de votre meuble-lavabo. Reportez-vous aux 
instructions fournies avec vos meubles-lavabos pour toute information 
concernant les options électriques fournies au préalable.

Lorsqu’il est combiné avec des meubles-lavabos Cartesian ou 
profilées, cet accessoire nécessite une préparation spéciale du site. 
N’installez pas les meubles-lavabos avant que tous les travaux de 
charpente, de plomberie et d’électricité aient été effectués et que la 
surface des murs soit prête. Il est recommandé de faire appel aux 
services d’un installateur professionnel. Respectez tous les règlements 
en matière de construction locaux.

Conserver ces instructions pour un usage et une référence ultérieurs. 
Une installation non appropriée annule la garantie. Les meubles de 
toilette installés ne peuvent pas être retournés.

En cas de problèmes avec vos meubles de toilette, communiquer avec 
le concessionnaire ou directement avec Robern.

TABLE DES MATIÈRES CONTENIDO

INFORMATION GÉNÉRALE
Este manual de instrucciones contiene información sobre cómo montar 
un tocador independiente Cartesian o Profiles. Esos accesorios 
están disponibles en diferentes dimensiones de ancho y solo 
funcionan con tocadores que tengan tamaños específicos a los de 
los tocadores Cartesian y Profiles. Estas instrucciones tienen como 
finalidad complementar las instrucciones de su tocador. Consulte las 
instrucciones incluidas en su tocador para obtener toda la información 
relacionada con las diferentes opciones eléctricas que pudiese incluir 
su mueble.

Si se combina con los tocadores Cartesian o Profiles, este accesorio 
requiere de una preparación especial de su sitio de montaje. No monte 
el tocador hasta que haya finalizado correctamente la instalación de 
los marcos, tuberías y complementos eléctricos, así como la superficie 
que debe montarse en la pared. Recomendamos que recurra a los 
servicios de un instalador profesional. No olvide seguir los códigos 
locales de construcción.

Guarde estas instrucciones para uso futuro y como referencia. La 
instalación incorrecta invalida la garantía. Los tocadores instalados no 
pueden ser devueltos.

Si tiene algún problema con sus tocadores, comuníquese con su 
concesionario o directamente con Robern.

INFORMACIÓN GENERAL 



No. de pièce / Pieza n.° CB-209-1336 07/28/20
Accessoire de Socle du Meuble-Lavabo Autonome

Accessorio para Patas de Base del Tocador Independiente 22
© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA  19007  U.S.A.
800.877.2376      www.robern.com

OUTILS NÉCESSAIRES

PIÈCES

HERRAMIENTAS NECESARIAS

PIEZAS

[203-1293]
(2) Boulon à ailettes /

Perno de palanca

Kit de Montage Optionnel / Bolsa 
con Accesorios de Montaje Opcional

Pieds de meuble-lavabo indépendant / 
Base para las patas de un tocador independiente

* Les composants nécessaires ont été fournis avec le meuble-lavabo.
* Todos los componentes necesarios están incluidos en la caja del tocador.

[216-1073]*
Sac de Visserie de Fixation / 
Bolsa de Herrajes de Montaje

  [SS674]
(5) #10 x 2" Hélice / 

Tornillo

[203-1270]
Goupille T-30 / 

Llave T-30

 [203-1256]
(4)  5/16" x 2-1/2"  

Boulon / Perno 
estructural

3/8”5/16” 1/2”

[216-1207]
Sac de Matériel Mont Jambe / Bolsa de 

Hardware para Montaje en la Pierna

[203-1390]
(4) #10 Rondelle /

Arandela

[203-1503]
(4) #10-24 x 1/2”

Vis / Tornillo



No. de pièce / Pieza n.° CB-209-1336 07/28/20
Accessoire de Socle du Meuble-Lavabo Autonome

Accessorio para Patas de Base del Tocador Independiente 33
© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA  19007  U.S.A.
800.877.2376      www.robern.com

PRÉPARER LE MUR PREPARACIÓN DE LA PARED

36-1/2”  
(927 mm)

VUE LATÉRALE INDIQUANT L’EMPLACEMENT DE BLOCAGE DANS LE MUR.  
LA VISTA LATERAL MUESTRA EL LUGAR PARA LOS MADEROS DE REFUERZO EN LA PARED.

36-1/2”  
(927 mm)

2X6

13-3/4” – 22”  
(349 mm – 559 mm)

2”  
(51 mm)

34-1/2”  
(876 mm)

  3/4” (19 mm) 
Dégagement de la Base de Moulage /
Espacio del Molde de la Base

  3-1/2” (83 mm) MAX 
Fourniture / Para el Suministro

15-1/4” (387 mm) MAX 
PLOMBERIE / PARA TUBERÍA



No. de pièce / Pieza n.° CB-209-1336 07/28/20
Accessoire de Socle du Meuble-Lavabo Autonome

Accessorio para Patas de Base del Tocador Independiente 44
© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA  19007  U.S.A.
800.877.2376      www.robern.com

Deux types d’options électriques sont disponibles pour les meubles de 
toilette. La première option est une option de veilleuse commandée 
avec le meuble de toilette. La deuxième option est un accessoire 
électrique [VAELECTRIC]. Les deux options peuvent être branchées 
dans la même prise.
 
La prise doit être câblée sur un circuit GFCI de 120 V c.a. et 20 
ampères. Nous déconseillons d’utiliser une prise GFCI parce que sa 
réinitialisation sous l’armoire de toilette ne serait pas pratique.   
 
La veilleuse ne comprend pas d’interrupteur. Il est possible de câbler 
un interrupteur sur un réceptacle dans la prise pour faire fonctionner la 
veilleuse. 

Tous les codes électriques applicables dans votre région doivent être 
suivis. 
 
La prise peut être installée vers la gauche ou la droite du centre en 
fonction du côté sur lequel l’accessoire VAELECTRIC sera situé.

La plomberie doit être située tel qu’indiqué pour empêcher une 
interférence avec les tiroirs du meuble de toilette.

Hay dos tipos de opciones eléctricas disponibles para los tocadores. 
La primera es una opción de luz nocturna que se ordena con el 
tocador. La segunda es un accesorio eléctrico [VAELECTRIC]. Ambas 
opciones pueden conectarse al mismo tomacorriente. 
 
El tomacorriente debe estar cableado a un circuito GFCI de 120 VAC 
20 AMP. No recomendamos usar un tomacorriente GFCI, ya que 
restablecerlo bajo el tocador resultaría inconveniente.  
 
La luz nocturna no tiene interruptor. Se puede cablear un interruptor a 
un receptáculo en el tomacorriente para usar la luz nocturna. 

Se deben cumplir todos los códigos eléctricos que correspondan.   
 
El tomacorriente puede instalarse a la izquierda o a la derecha del 
centro, de acuerdo al lado en que se vaya a instalar el accesorio 
VAELECTRIC.

La plomería se debe ubicar como se muestra para evitar interferencia 
con los cajones del tocador.

PRÉPARER LE MUR PREPARACIÓN DE LA PARED

8”  
(203 mm)

15-1/4”  
(387 mm)

13-3/4”  
(349 mm)

5-1/8” (130 mm) 
DÉGAGEMENT DU TIROIR DE PLOMBERIE
ESPACIO LIBRE DEL CAJÓN CON RECORTE PARA PLOMERÍA



No. de pièce / Pieza n.° CB-209-1336 07/28/20
Accessoire de Socle du Meuble-Lavabo Autonome

Accessorio para Patas de Base del Tocador Independiente 55
© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA  19007  U.S.A.
800.877.2376      www.robern.com

ASSEMBLER LE CADRE ASSEMBLER LE CADRE
REMARQUE : La combinaison des meubles-lavabos utilisés dans 
votre installation peut varier visuellement par rapport aux images 
présentées. Pour référence, un cadre de fausse-façade H1 sur un 
cadre H2 Tiroir est présenté dans les étapes suivantes.

1. Disposez les cadres du meuble-lavabo dans la direction souhaitée 
au-dessus des jambes. Installez une vis n° 10 [SS268] et une rondelle 
n° 10 [203-1390] dans le trou le plus proche des bords avant et arrière 
de chaque côté dans un écrou n° 10 [203-1317]. Utilisez une clé de 
5/16 po et un tournevis cruciforme n° 2 pour resserrer le montage 
jusqu’à ce qu’il soit bien fixé.

2. Fixez la base des pieds au cadre de meuble-lavabo assemblé à 
l’aide de quatre vis #10-24 x 1/2” [203-1530] et de quatre rondelles 
#10 [203-1390] incluses avec la base des pieds. Utilisez un tournevis 
cruciforme n° 2 pour serrer jusqu’à ce qu’il soit fermement fixé.

NOTA: La combinación de tocadores que utilice en el montaje 
podrá variar visualmente de las imágenes que se muestran en este 
documento. Para su referencia, en los siguientes pasos aparece un 
marco de una parte frontal falsa H1 sobre un marco de un cajón H2.

1. Coloque los marcos del tocador en la orientación deseada sobre la 
base de la pata. Introduzca un tornillo #10 [SS268] y una arandela #10 
[203-1390] a través de cada orificio que esté más cercano al extremo 
frontal y posterior de cada lado en una tuerca #10 [203-1317]. Utilice 
una llave de 5/16” y un destornillador de estrella #2 para apretar el 
conjunto hasta que quede ajustado con firmeza.

2. Fije la base de la pata al marco del tocador ensamblado con cuatro 
tornillos #10-24 x 1/2“ [203-1530] y cuatro arandelas #10 [203-1390] 
incluidas con la base de la pata. Use un destornillador Phillips no 2 
para apretar hasta que quede firmemente asegurado.

2

1



No. de pièce / Pieza n.° CB-209-1336 07/28/20
Accessoire de Socle du Meuble-Lavabo Autonome

Accessorio para Patas de Base del Tocador Independiente 66
© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA  19007  U.S.A.
800.877.2376      www.robern.com

INSTALLATION DU CADRE INSTALACIÓN DEL MARCO 
ESTRUCTURAL1. Placez le cadre du meuble-lavabo contre le mur et la tuyauterie. À 

l’aide d’un mètre, ajustez les pieds sous les pieds arrière jusqu’à ce 
que le cadre du Vanity soit de niveau, d’un côté à l’autre.  
2. À l’aide d’un niveau, ajustez les pieds sous les pieds avant jusqu’à 
ce que le cadre du meuble-lavabo soit à niveau, de face et de dos. 
Vérifiez à nouveau le niveau d’un côté à l’autre et en diagonale (coin à 
coin) et ajustez si nécessaire.

1. Coloque el marco del tocador en la posición deseada contra la 
pared y la tubería. Utilizando un nivelador, ajuste las bases que están 
por debajo de las patas posteriores hasta que el marco del tocador 
esté nivelado de lado a lado.
2. Utilizando un nivelador, ajuste las bases que están por debajo de 
las patas frontales hasta que el marco del tocador esté nivelado en la 
parte frontal y posterior. Verifique de nuevo que está nivelado de lado 
a lado y de forma diagonal (de esquina esquina) y ajuste las bases 
según sea necesario.

1 2



No. de pièce / Pieza n.° CB-209-1336 07/28/20
Accessoire de Socle du Meuble-Lavabo Autonome

Accessorio para Patas de Base del Tocador Independiente 77
© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA  19007  U.S.A.
800.877.2376      www.robern.com

INSTALACIÓN DEL MARCO 
ESTRUCTURAL3. Fixez le meuble-lavabo au mur en utilisant les boulons de fixation 

fournis [203-1256].
REMARQUE : Pour assurer la sécurité de l’utilisateur et une bonne 
installation, fixez correctement le meuble-lavabo aux montants dans 
les positions indiquées (Fig 3A). S’il n’y a pas de goujons, des trous de 
3/8 po peuvent être ajoutés au sommet du cadre à des emplacements 
qui s’alignent avec les goujons du mur, ou utiliser les boulons à ailettes 
[203-1293] fournis, aux emplacements des trous comme indiqué (Fig 
3B). Suivez les instructions indiquées sur l’emballage des boulons à 
ailettes.
Reportez-vous aux instructions fournies avec le meuble-lavabo pour 
finaliser l’installation.

3. Ajuste el marco del tocador a la pared utilizando los pernos estruc-
turales proporcionados [203-1256].
NOTA: Para garantizar la seguridad del usuario y su correcto montaje, 
enganche correctamente el tocador en los broches según la posición 
que se indica (figura 3A). Si no existen broches en estas áreas, podrá 
añadir orificios de 3/8” en la parte superior del marco del mueble 
según las posiciones que sean necesarias para alinearlos con los 
broches montados en la pared; también puede utilizar los pernos de 
palanca [203-1293] incluidos, según las ubicaciones de los orificios 
que aparecen a continuación (figura 3B). Siga las instrucciones que 
aparecen en la envoltura del perno de palanca.
Consulte las instrucciones incluidas en el tocador para finalizar la 
instalación.

[203-1293]
Boulon à ailettes /
Perno de palanca

3b

3a

[203-1256]
5/16" x 2 1/2"

4-Structural Bolt
4-Boulon

4-Perno estructural

[203-1270]
Goupille T-30 

Llave T-30

[203-1256]
5/16” x 2-1/2” (63.5 mm) 

Boulon / Perno  
estructural

INSTALLATION DU CADRE



No. de pièce / Pieza n.° CB-209-1336 07/28/20
Accessoire de Socle du Meuble-Lavabo Autonome

Accessorio para Patas de Base del Tocador Independiente 88
© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA  19007  U.S.A.
800.877.2376      www.robern.com

UTILISATION ET ENTRETIEN

GARANTIE

USO Y MANTENIMIENTO

GARANTÍA

Les côtés du meuble de toilette, le devant et l’intérieur des tiroirs 
sont fabriqués en verre et en aluminium. Utiliser seulement un chiffon 
humide pour nettoyer. Des nettoyants à base d’ammoniaque ou de 
vinaigre peuvent endommager les miroirs.

Une solution de 50/50 d’eau et d’alcool isopropylique est 
recommandée pour nettoyer le meuble de toilette. Un détergent doux 
peut être utilisé sur les surfaces.

Lors du nettoyage, vaporiser le chiffon, et non pas le meuble de 
toilette, le miroir, ou les surfaces avoisinantes. Ne pas utiliser de 
nettoyants abrasifs sur une partie quelconque de l’armoire de toilette.

Garantie limitée d’un an

La société Robern garantit à l’acquéreur original qu’elle réparera, 
remplacera ou ajustera de manière appropriée, à son gré, les produits 
qu’elle fabrique et faisant preuve de défectuosités significatives en 
matériaux ou en qualité de fabrication qui sont signalées à Robern 
par écrit dans un délai d’un (1) an suivant la date de livraison. Robern 
n’est pas responsable des frais d’installation. La garantie est annulée 
si le produit est endommagé en transit, ou si les dommages ou la 
défaillance sont le résultat d’une utilisation abusive ou inadéquate, 
d’un usage anormal, ou d’une installation défectueuse, de dommages 
survenus lors d’un accident, d’un entretien inapproprié, ou de toute 
réparation effectuée par des personnes non autorisées par Robern. 
Lors de l’expiration de la période de garantie d’un an, Robern 
n’assumera aucune obligation ultérieure sous les termes d’une 
garantie quelconque, expresse ou implicite, y compris la garantie 
tacite de qualité marchande. La société Robern ne pourra être tenue 
responsable pour des dommages indirects découlant de l’utilisation ou 
associés à l’utilisation ou à la performance de ses produits. Certains 
états ne permettent pas de limites sur la durée de la garantie tacite, 
ni l’exclusion ou la limite des dommages particuliers, accessoires ou 
indirects, et, par conséquent, lesdites limites ou exclusions précitées 
peuvent ne pas s’appliquer à votre cas. Toute responsabilité assumée 
par Robern sous une garantie implicite quelconque, y compris la 
garantie de qualité marchande, est limitée de manière expresse aux 
conditions de la présente garantie. La permission de renvoyer de la 
marchandise sous les termes de cette garantie doit être autorisée par 
Robern et les frais de renvoi doivent être prépayés par l’acquéreur. 
Les réclamations effectuées sous cette garantie doivent être envoyées 
directement à votre concessionnaire.

©2020 Robern, Inc.
Tous droits réservés

Los lados del tocador, los frentes de los cajones y el interior están 
fabricados de vidrio y aluminio. Para limpiar solo use un paño húmedo. 
Los limpiadores que contienen amoniaco o vinagre pueden dañar los 
espejos.

Para limpiar el tocador se recomienda una solución al 50/50 de agua y 
alcohol isopropílico. Se puede usar una solución ligera de detergente 
en las superficies.

Al limpiar, rocíe el paño, no el tocador, el espejo ni las superficies 
alrededor. No use limpiadores abrasivos en ninguna parte del tocador.

Garantía limitada de un año

Robern garantiza al comprador original que, a su elección reparará, 
reemplazará, o hará los ajustes apropiados a los productos fabricados 
por esta compañía que se demuestre que tienen defectos significativos 
en material o mano de obra y que se reporten a Robern por escrito 
en menos de un (1) año a partir de la fecha de entrega. Robern no 
se hace responsable de los costos de instalación. La garantía se 
anula si el producto sufre daños durante el transporte, o si los daños 
o las fallas se deben a abuso, uso indebido, uso anormal, instalación 
defectuosa, daños en un accidente, mantenimiento inadecuado, o 
reparaciones distintas a las autorizadas por Robern. Al finalizar el año 
de garantía, Robern no quedará bajo ninguna obligación adicional bajo 
ninguna garantía, expresa o implícita, incluida la garantía implícita de 
comercialización. Robern no será responsable de daños emergentes 
que surjan del uso o del desempeño de sus productos, o en relación 
con ellos. Algunos estados no permiten limitaciones en cuanto a la 
duración de una garantía implícita o no permiten la exclusión o la 
limitación de daños incidentales o indirectos, por lo que es posible que 
estas limitaciones y exclusiones no se apliquen a su caso. Cualquier 
responsabilidad contra Robern bajo cualquier garantía implícita, 
incluida la garantía de comercialización, se limita expresamente a 
los términos de esta garantía. Robern debe autorizar el permiso 
de devolución de cualquier mercancía bajo esta garantía, y esta 
mercancía debe ser devuelta con porte pagado por el comprador. Las 
reclamaciones bajo esta garantía deben ser enviadas directamente a 
su distribuidor.

©2020 Robern, Inc.
Todos los derechos reservados

No Ammonia
Sans Ammoniac

Sin Amoniaco

No Vinegar
Sans Vinaigre

Sin Vinagre

Sans ammoniac / Sin amoníaco 
Sans vinaigre / Sin Vinagre


